B OBE

HoI% 4 7 e m R (m) |7 0| PUEATE | DRAT
HP 125 e P ] [ P ] — T aisog 100 5.5 2.0
TP 3 P ][ P ] T H sihatoo| 200 7.5 2.0
T F]4- 55 B P ][ 8 ] T H Gl e ag| 200 7.5 2.0
B E 7 =V — 15 FElE | PRI =l dE—T A 238.00 20.0 -8.0 2.0
B E 7 =V —275 FEhE | PR X Rl dE— T A 238.00 20.0 -8.0 2.0
B9 E]7 =) —3% R |9 XM El AL — T H 238.00 20.0 -8.0 2.0
B E 7 =V —45 FEEE | PRI X Rl dE— T A 193.00 20.0 -7.5 2.0

(38 P A e P ] [ 7 1AL T G000 150 4.5 1.5
i El AL 275 R RE M & g M &b — T H 60.00 15.0 -4.5 1.5
AP El L3 75 R RE M & O M &L T H 90.00 15.0 -5.5 2.0
B El b4 R M & oM=L =T H 90.00 15.0 -5.5 2.0
B El b5 R M & oM El L =T H 90.00 15.0 -5.5 2.0
P L6 B R P ] [ 1AL = T a0 ool 200 7.5 2.0
PR EIALT 5 R RE M & o M el AL =T H 130.10 20.0 -7.5 2.0
B E L8 B M & oM el =T H 185.00 20.0 -10.0 3.0
B E1 k9 B P =X AIAE =T H sk 185.09 20.0 -10.0 3.0
S P 1AL 10 2 fat e PARH AL ST HE | ool 200 8.0 2.0
FriaEl b1 15 R =] TP A1 AL =T H sk 190.40 20.0 -7.5 1.0
KTNHUFA~CIERE  |9IX A TG G e og| 150 4.5 1.5
KIVH2~65 B [ ] XK T 1+ 925.00 20.0 -10.0 3.0

=] (AT 85 ke P A T i G e 200|120 3.0
KT BB P A T i G e sg| 200|100 3.0
KTIHI0~125 FRE |91 A TG G0 0s| 150 4.5 1.5
KIVH13~ 165 50E |1 1K A )i oibaeog 150 1.5 1.5
KIJHLT 5 fFRE W= AR 3 60.00 15.0 -4.5 1.5
KIVI8~25 58 |1 A T mﬁiigg 15.0 4.5 1.5
KTIi26- 2T FERE | A TG A 120.000 45 4.5 1.5

(Rf1)10.00




Ho% % 7 e m R (m) |7 0| PUEATE | DRAT
KIIiHi28 % ek [ ] XK T T 1+ 185.00 20.0 -10.0 3.0
KIIH29 5 fFBE [ ] XK T T8 1+ 185.00 20.0 -10.0 3.0
KIIH30 5 fFHE [ ] XK D T ¥ 1 5 185.00 20.0 -10.0 3.0
KIJiHi31-325 F=RE FH ] XK D T ¥ 1 5 370.00 20.0 -10.0 3.0
KIVIB3- B4R FRE | KA G0l 200|100 3.0
KIIB5~3T 5 FRE | AT Gt oas| 150 4.5 1.5

M | EF 15 RE FH ] DX FR B 3 ¥ 105.30 10.0 -6.0 3.0
F B 1 25 f7 B FH ] DX B 3 VA 104.70 15.0 -8.0 3.0
[ 3 - 4 5 P ] (E&H%g:gg 200|  -10.0 3.0
5+ 6 5 e P 5 FH R G ool 120 -9.0 4.0
[ T P 5 5 FH B R s ool 120 9.0 2.0
FH 71 8 5 f i FH =] DX R B 3 VA 185.00 20.0 -10.0 3.0
F w1275 j7BE M =] DX Pa i+ — T H G 420.00 20.0 -11.0 3.0

&) |PAE]3~57 ke M E] X+ — T H 437.69 9.0 -10.0 3.2
=675 7B M E] X igEs T H 188.00 20.0 -10.0 3.2
FH &7 75 FREE M &) X i s =T H 231.00 9.0 -10.0 3.2
P8~ 102 a2k ] (X P = T (E&ﬁ*?ig:gg 50|  -11.0 2.0
=115 P ] XS P T Gibeeod| 180|110 3.0
P12 1345 fFRE [ ] XA HT 344.70 9.0 -9.0 3.2
R ~ A R AMAALRARIE T H (o800 8.0 4.5 2.0

/N | HE D R INEALRKRIEZTH 181.80 10.0 -9.0 3.2

£ |rr1 B e ALK % =T H (E&H)Z(Z)(l):(l)g 20.0 7.5 2.0
RBF2 5 FRE INEAEX &L =T H 200.00 20.0 -7.5 2.0




/N AR X G PR T 330.08 20.0 -7.5 2.0
H B B3~ 6 5 B AN LK P T (W%)g:ég 200|  -11.0 2.5
AN ALK P T <Ew>2§813<7) 200  -12.0 2.0
/N b X P P T 320.52 6.0 -5.5 2.0
AN P T () O 15.0 5.5 2.0
H T34 5 e AN P ST a0 150 5.5 2.0
H #k5-6% /N AL X P P T 180.10 15.0 -5.5 2.0
/N AR X P T 90.00 15.0 -5.5 2.0
B 1 5 e AN P ST Gihed 150 5.5 3.0
R X R 7 136.30 6.0 -4.5 2.0
BUI|3~55 FRE TR X R S i 180.20 8.0 -4.5 2.0
R IX K R @nggiég 8.0 7.5 3.0
FE)IM—TH 170.00 10.0 -6.0 2.0
P T B (E&H)lgg:(fg 20.0 5.5 3.0
P T A 130.00 20.0 -7.1 3.0
TR B FME I =T H aiso00| 200 9.0 3.0
F A6~ 85 R FHKIRZTH 305.85 7.0 -6.0 2.0
P IX 4R T B () o 8.0 6.0 2.0
XS T H 93.81 | 2.3~5.0 -6.0 2.0
125 H T XA g 350.00 10.5 -9.0 1.0
J\ % P8 X 5t T 331.40 8.0 -8.0 3.0
J\ 7% P8 X S i T 310.00 9.0 -4.5 1.5
11125 BB I [ AL T (90,00 8.0 5.5 2.0
I 5 [ AL T aieroo| 150 5.5 2.0
IR F R (E&{¢)1§8:88 20.0 -7.5 2.0
A PR 90.00 20.0 -5.5 1.5
FRRXARHET T H 26.00 8.0 -6.0 2.0
ES NN G 353.65 9.0 -8.0 2.0




N T a g | A E K i
wE 4 g m R (m) |7 0| PUEATE | DRAT
ERA6~8 5 R RE FRA R D e 269.48 8.0 -5.5 2.0
12 B ek KR T H " H%fg-gg 10.0 5.0 15
b3 - 455 A AR X ALERET (E&H)lig'gg 6.0 -5.0 2.0
s~ 8 B KK T it ﬂgg‘f-gg 8.0 5.0 15
S O 2 o2 B ERAKEIT T H (E&H)lgg.gg 20.0 100 2.0
A | 2R 1 BE FRn K BNT— T H 185.46 20.0 -10.0 2.0
L R 0 1 PR R ERA X ABHT— T B 185.00 20.0 -10.0 2.0
L R 3 PR R ERAXABHT— T H 165.00 20.0 -9.0 2.0
28I =y e\ 7 YRR T 160.00 B
B 4 R RN KT — T H (Fef$) 30.00 20.0 9.0 2.0
AR P A FRn KT — T H 100.00 15.0 -5.5 2.5
o e b S 450.00 }
WS — 1~ 575 R RE ERAXEHT— T H (BfF) 80.00 15.0 5.5 2.0
S 1 EAN KT = T H (E&H)gg'gg 15.0 5.0 1.0
1 |2V 275 e R RN X ZRNT =T B 80.00 15.0 -5.0 1.0
R Y 3 - R B AT =T H 170.00 41.5 -10.0 3.0
-_- B T 170.00 -
LWV 4 5 R FRNXEET =T H () 41.50 41.5 10.0 3.0
B PE 55 PR BE ERAX BT =T H 349.53 60.8 -15.0 3.0
S P 6 e AN KT =T H 350.50 60.8 ~15.0 3.0

(f1) 33.50




